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(#A-01) *PO1 7/28 SR EAHH 0.0008 0| at
(#A-02) *PO2 | 7/28 EREAH 0.0009 | gt
(#A-03) *PO3 | 7/28 BErEAH 0.0008 ojot
(#A-04) *P04 | 7/28 SXEA 0.0009 o] oF
(#A-05) *PO5 | 7/28 Flddd g 0.0018 o| gt
(#A-06) *PO6 | 7/28 HoiE FE duy 0.0009 oj gt
(#A-07) *PO7 | 7/28 27| 0.0018 oj ot
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(#A-03) *PO3 | 7/31 FXEAH 0.0008 o| oF
(#A-04) *P04 | 7/31 SR EA 0.0008 oj gt
(#A-05) *P05 | 7/31 fldad g+ 0.0018 o| oF
(#A-06) *PO6 | 7/31 YE FH Ay 0.0009 of gt
(#A-07) *P07 7/31 =27 0.0018 oj gk
(#A-08) *P0O8 | 7/31 H 7| HET 0.0025 0| gt
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(#A-01) *PO1 8/1 2R EAHH 0.0009 oj oF
(#A-02) *P02 |  8/1 SR FAH 0.0008 o| ot
(#A-03) *P0O3 8/1 2XAA 0.0009 o| gt
(#A-04) *PO4 | 8N SEXEH 0.0009 oj gt
(#A-05) *P05 8/1 ey g 0.0018 oj gt
(#A-06) *P06 8/1 HEd FE U 0.0009 oj gt
(#A-07) *PO7 8/1 =27 0.0018 oj gt
(#A-08) *P08 8/1 H7[gdtE 0.0025 0| gt
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